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NOTE: All Questions carry equal marks. . Maximum Marks: 70

Q. :1 ‘
(A) Clarify the meaning of differentiation, Explain the rules of differentiation with
appropriate illustrations.

(8)
() [Asad-dl x18 e 53), [Rsadl Ryl doy Gelszel A8 Axesd),

B) If demand and Total cost functions of a firm are respectively; P=20-Qand (10)
C = Q? + 8Q + 2. Then find out (a) level of production for maximum profit (b)
Maximum profit (¢) Equilibrium price (d) Total Revenue (e) Total Cost.

() o5l UGl MioL v et vl QBN 2R P=20-Q 2N C=Q*+8Q +2 B. dl (u)
Hesdd gl Hide Gedlert kR (61) Mo 8l (s) ungdldl B (3) get 2las 21
() s wal alk), | ’ ‘

OR
Q.:1

(A) Discuss the usage of differentiation in Economic Analysis. ©)
(=) 2Ulls [duani [Rsandl Gualod- aal 43\,

(B) Which Condition should be followed to maximize and minimize the value of the
Function. 3)

() (AU Brd Heam 2 Yddd sl 42 55 ARcdlg Uietrt ag RS ?

(C) Find out the total differentiation of following functions. (©)
() C=x'—6x"+20x 43+ 82 1+ 4
O T u—
(©) Y= -4x+1)(x’+8) 3%’ — 8x + 25

(5) <02 AL yellsan so Q).
(@) C=x’-6x*+20x 4x° + 8x2 + 4

(©) Y=(-4x+1)(x +8) 3x — 8x + 25
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Q. :2
(A) Explain the product moment and rank correlation methods to find out the coefficient
of correlation, (8)

(21) wurioinis daal vl sjeiruend 219 suis wsolt ugll wuad),

(B) Using the following data find out Coefficient of Correlation by product moment
method. )

X 50 150155 160 | 65 | 65 165|601 60150
Y I 13|14 [ 16 (16|15 (15|14 ]13]13

() AL A w22l oauzd ugliel Asisitis s,

X 50 150 55 | 60 | 65 | 65 | 65] 60| 60150
Y 1L 137 14 (16| 1615|1514 11313

OR
Q.:2 _
(A) Give the Meaning of Correlation. Explain its Types. &)

() usioiarl 20l Ul At R Us A wrdl 2wl

(B) Write a note on Probable Error. 3
() deafdd el y ~fiy au,

(C) Using the following data find out Coefficient of Correlation by rank correlation (9)
Method, : L

X |8 [ 78] 75 [ 75 1 68 1 67 |60 ] 59
Y |12 [13] 14 |14 14|16 [15]17

(5) Al wulacl uzell suis uglel wsdeitis Q).

X 80 | 78 | 75 {1 75 | 68 | 67 | 60 | 59
Y 12 113 ] 14 |14 ] 14 ] 16 [15] 17

Q.:3
© (A) Define regression, Coefficients of regression and regression lines. Discuss the usage
of regression and characteristics of coefficient of regression. )
(21) [Had et Fud doiuls 207 Mad doiy Ivyada A5 5L, [Hud doit-

Guyloll 24, (M deltisl Qe sdaidl 1l 530,

(B) Using following data find out Yule’s Coefficient of Colligation and Coefficient of
Association. . ' ; (5)
(AB) =90, &B) =10, (AP)= 30, (xB)=10

() Al sufell waell yaddl Sellonaq 2is 21m ARus Aoitls DAL,
(AB) =90, &8) =10, (AR)= 30, &B)=10

(C) Following is the information about 25 pair. Find out regression line. If X = 8 then

find estimation price of Y, (6)
£,=125, €,= 100, ,7 = 650, £,* = 440, $,, = 508
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(5) 2y 2ssi 2 AAAD RA 1A B, d uel A Rudriold vl lEl %L X =8 ¢y
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S,=125, £,=100, £7=650, £,7=440, =508

OR
Q.:3
(A) Explam difference between Correlativity and regression explain Interpretation of
regression. (7

(1) Fudeioly 2in dgdioln a2l dslad 2 [Fad doltrdl 2l Ao,

(B) Using following data find out two Coefficient of regressmn and regressmn lines.

Find estimated price of Y when X = 12, ' , (5
X Y
Mean 7.6 14.8
Standard Deviation 3.6 2.5
Coefficient of Correlation 0.99

(o) (1A MRl w2ell & Fud Aoltlsl i Fad dolt vl albl, s} X =12 $Id
Y Al B 2o 53

X Y
Ry g 7.6 14.8
yHLlBld [Qaeax 3.6 2.5
YsAoULS 0.99

(C) Using the following data find out Coefficient of regression and regression line. Find
estimated price Y when X = 100 (6)

X 62 | 72 | 98 | 76 | 8l ‘56 76 | 92 | 88 | 49
Y 112 [ 124|131 } 117 | 132 ] 96 [ 120|136 97 | 85

(5) DA HRl w2l Fad dolaisl 2wl 214 Fad dsit s WHl 22U X =100
€l Al Y -l B 2uomin 530,

X 62 | 721 98 | 76 { 81 | 56 | 761 92 | 88 | 49
Y 112 [ 124 ] 131 | 117 | 132 | 96 {120{136| 97 | 85

Q.:4
(A) Define an Index number. Discuss the various problems in construction of Index (9)
number in detail.

(1) 2yRsuiis canasd 530, asviis-dl auul dodl Hadelai- Rowd 22l 520

(B) Using the following information prove that Fisher’s formula for Index number
satisfies time reversal test and factor reversal test. ®

@ | | C PT0)




Commodity .Base Year . (;urrent Year.
Price ; Quantity | Price Quantity
A 7 15 5 20
B 5 . 24 9 20
C 15 6 19 5
D 3 10 5 8
E 10 20 12 20

() Al Rl Guadlon 53194 Bzl yasails il wbid 530 3 a YASULS 1Y
[uald 249 ue Ryaly ulawd ddd S,

g 2R Ay
(Bud | o2l | Bud | ol
A 7 15 5 20 :

B 5 24 9 20

C 15 6 19 5

D 3 10 5 8

E 10 20 12 20

OR
Q.: 4
(A) Discuss the usage of Index number in Economic analysis. (6)

(21) yasaisdl 2uRs Raaneui Gualoldr s,

(B) Why Fisher’s Index number is considered the ideal index number? 3)
() 2 2 Bur- yas2isd 2ued yasuis omaml 203 37 L |

(C) Using the following data find out Pashe, Laspiyar and Fisher’s Index number. )
: 1990 2000 |
Commodity Price | Quantity | Price | Quantity
X 25 50 20 100
Y 15 10 10 25
Z 5 40 5 40

(5) DAl wladl w2 W, araflaz »is By Qs d@a] 42,

Ry 1eeo R000 | |

Bua | owl | Bud | o=l ;

X 25 50 20 100 |
Y 15 110 10 25
Z 5 40 5 40




